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Explain the motives of holding cash.
Discuss the variables associated with credit policy.

OR

From the estimates of income and expenditure, prepare cash budget for the
months from April to June,

Month | Sales Rs. | Purchases | Wages | Office Exp. Selling
- " Rs. Rs. Rs. Exp. Rs.
Feb 1,20,000 | 80,000 8,000 5,000 - 3,600
March | 1,24,000 | 76,000 8,400 5,600 4,000
April | 1,30,000 | 78,000 8,800 5400 | 4,400
May 1,22,000 | 72,000 9,000 5,600 4,200
June | 1,20,000 | 76,000 9,000 5,200 3,800

Plant worth Rs. 20,000 purchase in June 25% payable jmmediately and the
remaining in two equal installments in the subsequent months,

Advance payment of tax payable in Jan and April Rs 6,000.

Period of credit allowed by suppliers 2 months& to customers 1 month.

. Dividend payable Rs.10,000 in the month of June,

Delay in payment of wages and office expenses 1 month and selling expenses
1, month. Expected cash balance on 1st April is Rs. 40,000,

Explain the significance of Cost of capital in financial management,
Define Cost of Capital and discuss its classification.

OR
The capifal siructure of 2 company is as under:
Sources ' Amount (in Rs.)
Debentures (Rs. 100 per debenture) 5,00,000
Preference shares (Rs. 100 per share) 5,00,000
Equity shares (Rs. 10 per share) 10,08,000
20,00,000
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The market prices of the securities are:

Debentures Rs. 105 per debenture,
Preference shares Rs. 11 per preference share,
Equity shares Rs. 24 per share,

Additional information:
(1) Rs. 100 per debenture redeemable at par, 10% coupon rate, 4% floatation
cost, 10 year maturity,
2) Rs. 100 per preference share redeemable at par, 5% coupon rate, 2%
- floatation cost, 10 year maturity,
3) Equify shares has Rs.4 floatation cost and market price Rs. 24 per share.

The next year expected dividend is Rs, 1 with annual growth of 5%. The firm has
practice of paying all earnings in the form of dividend, :
Cerporate tax rate is 50%.

Caleulate WACOC on Book value weights and Market value weights,

Q-3 Describe the factors affecting Financia) Planning, 18
OR

Q-3 Discuss the theories of Capitalization. 18

Q-4 Write notes on: ' 17

(AY Optimum capital structure,
(B) Trading on Equity.

OR
: 17

Q- A Ltd, has a share capital of Rs .1,00,000 divided into share of Rs, 10 each. It has

a major expansion program requiring an investment of another Rs. 50,000. The

Management is considering the following alternatives for raising this amount ;

I) Issue of 5,000 equity shares of Rs, 10 each, '

1) Issue of 5000, 12% preference shares of Rs, 10 each.

M) Issue of 10% debentures of Rs. 50,000,

The conipany’s present Earning Before Interest and Tax (EBIT) are Rs, 40,000

per annum subject fo tax @ 50%. You are required to ealculate the effect of the

above financial plan on the earnings per share presuming;:

(2) EBIT continues fo be the same even after expansion,

(b) EBIT increases by Rs. 10,000.

(2>
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